VTR.p

ELESA J& €& it

YR md

- REEEPA)FRCRG R, BOEH. .

- A AMLE PO,
- R R AR, Fhom,

it et DA B L S R

8- UNIR947:1SO4753 4 % ,

'ﬁ.r‘r N L -
S ?,-'F.-‘.-"?-'.-"!.-“',.':lm

.k.‘

W EH FR~F WA =&
T B 2 D L di 12 d 6g | g
83041 | VTR.32 p-M5x10 M5 10 9
83042 | VTR.32 p-M5x20 M5 20 10
83043 | VTR.32 p-M5x40 45 o > 18 M5 40 13
83051 | VTR.32 p-M6x10 M6 10 10
83052 | VTR.32 p-M6x20 M6 20 13
83053 | VTR.32 p-M6x40 M6 40 15
83441 | VTR.40 p-M6x10 M6 10 14
83442 | VTR.40 p-M6x20 M6 20 15
83451 | VTR.40 p-M8x16 M8 16 19
83452 | VTR.40 p-M8x30 M8 30 25
83453 | VTR.40 p-M8x50 M8 50 30
83841 | VTR.50 p-M8x16 M8 16 28
83842 | VTR.50 p-M8x30 M8 30 32
83843 | VTR.50 p-M8x50 = e - I M8 50 37
83851 | VTR.50 p-M10x20 M10 20 35
83852 | VTR.50 p-M10x30 M10 30 40
83853 | VTR.50 p-M10x50 M10 50 50
84241 | VTR.60 p-M10x20 M10 20 46
84242 | VTR.60 p-M10x30 M10 30 48
84243 | VTR.60 p-M10x50 o . o > M10 50 60
84251 | VTR.60 p-M12x20 M12 20 57
84252 | VTR.60 p-M12x30 M12 30 65
84253 | VTR.60 p-M12x50 M12 50 80

& (elesa+RANTER

“ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.



